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MACHINE INTELLIGENCE
UNIT- 4

Particle Swarm Optimisation
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Fitnest  value = FlA vy = 2ley?
Run 1

TABLE 1: Initial positions, velocity, and best positions of all particles.

Initial Positions | Velocity Best Position | Fitness

Particle No. Best Solution v
X y X y X y alue
P 1 1 0 0 1000 - - 2
P2 -1 1 0 0 1000 - - 2
P3 0.5 -0.5 0 0 1000 - - 0.5
P4 1 -1 0 0 1000 - - - Sy
Ps 0.25 0.25 0 0 1000 - - CO. 1.’@

Global best value = p. ¢

?61 = (027, 0.27)
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Global best value = 0.125 and Global best position = 0.25, 0.25

Current Position Updated Velocity Personal Best Updated Position

Position
Particle  xi(t) yi(t) Fitness vi(t+1) vi(t+1) - P, (i) P, (i) global  xi(t+1)  vyi(t+1)
(1) value best
f(xi(t), yi(t)) value

1 1 1 2 -0.75 -0.75 1 1 0.125 0.25 0.25
2 -1 1 2 1.25 -0.75 -1 1 0.125 0.25 0.25
3 0.5 -0.5 0.5 -0.25 0.75 0.5 -0.5 0.125 0.25 0.25
4 1 -1 2 -0.75 1.25 1 -1 0.125 0.25 0.25
5 0.25 0.25 0.125 0 0 0.25 0.25 0.125 0.25 0.25
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